RERBIFEEAR (L) FRAF

EREEE MH-C MH-C2 Vert-X 22 - 5V / 10...90% Ub
BRSH
NEAETE ° 0... 360 0..360 Ri B
MM E % of meas. range £ 03 o N |'E] #r
B KWL 01 01 RT3 26
ST bit 1 Py F1ZE i m At R
BRATESH ° 0.1 0.1
T*Ji%ﬁ%#i kHz (©) © = RS S A
L e 1o 05 TR, THEAARELEH
RIREXREEBLER us (800) (809
BEEXREABLER ks 4600 2500 JEsEan =N & 5
MEESERNEERNK opm/°K 50 50 REBF®
MTTFd/MTBF years 668/ 668 308 /308 ERHNE
fitea BB E vDC 5(% 70h) 5(x10%) EEFETIRRA
TH AR BRI (typ.) RIFEERX mA () (75) (RE, &R, b,
T8 IR B (typ.) B R mA 9 70 R E ) BERERRAE
@B/ R R kOhm 10 10 SBERE D PENBEH
MR RKBEANE nF 7100 7100
8RR 1 R 8 R yes no SR MH-C
BSEE(s =R RLE) Cable 3pole, s Cable 3pole, s ,i’riJEiO?%
BREWREAE mm? 0.25 (AWG24) 0.25 (AWG24) 2?2%212‘
TR yes no - -
T ) Cable 6pole s - HMH-C2RRE
HBRLERBETLS mm? 0.25 (AWG24) - 25 MH-C2
SME £0.1%
ML 15 2 2 #HE14bit
W AE ° 360 (continuous) 360 (continuous) HERE 75 5 £ B AR /A e RE
hiEake27] P54/ IP67 IP54 /IP67 (FT3%)
EREHFERNRARESNELE Nem 05/3 05/3
BRE®RERE rom 6000 6000
BNEH 4 360 Mip. 360 Mio.
B A AV A N 100 100
BAATRBHARK N 50 50
TEMEFEE °C =40 . ¥ 125 -40 ... ¥85
IEC 68-2-6 #£3) (Amax =0.75mm, f=5 ... 2000 Hz) 9 20 20
IEC 68-2-27 #ifi g 50 50
Hatr
EN 55022 class B, Emission radiated (30... 230 MHz) aBu\V/m) max. 30 max. 30
EN 55022 class B, Emission radiated (230... 1000MHz) aBuv/m) max. 37 max. 37
EN 61000-4-2, ESD (contact discharge / air discharge) KV /18 /18
EN 67000-4-3, Immission HF radiated (80... 1000 MHz) Vim 30 30
EN 61000-4-4, Burst (on all lines) KV +7 17
EN 61000-4-5, Surge (lines to ground) KV +7 +7
EN 61000-4-6, Immission HF conducted (0. 15...80MHz) Vemk 10 70
EN 61000-4-8, Immission magnetic field (50Hz) A/m 30 30
IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20 20
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) KV 7 7

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Myk:www.tifu-auto.com  H4:info@imcortech.cn



R}

RREEEAR (L FRAF

Vert-X 22 - 5V / 10...90% Ub
s Ordering code
1E 1a B BECWAR A1
E@#E CCWH %2 * Switch outputs
TR, EMBEECWH 3 §
7% TR COWR 4 Please define number ‘
RHRXES ML TES (max. 127), position and width
IE B AL ECW #5188 FF >< 4 tHwith 1 switch output*fi&A of the ,OU/SE‘S
EMBEE CCW #13FF X i T ikB ’
IE [ 8 EECW 288 FF X 4 Al C
IE [ 8% B CCWHi2B% FF %X i i* AT %D
HE ¥ 75 18 7] iR B AL E
ERMBER T B AR E WIEF
RN BESE 5 B AR E WG
HB A R BE ¥ 75 ) AT iR E R IEH i
T 4R Vert-X EasyAdapt &P 445 R BT B % 3pole
67 3% [ £ e 4i6pole
9] I 45 R BB 4L
WHES
10% ... 90% Ub#r 2
X% ... y% Ub (within 5 ... 95%) " %3 ;ﬁi’?om
067 3%3.0m
e B ESVDCIR A2 107 #%5.0m
QO IEFF Bk B 40
Vert-X 2 2 0 1 7 3 6 2 2 1 4 0 2
Electrical angle
36HR AR B360°
xxA]1£03 to 35; Declaration in 10° steps
QTR AR B REA
Sensor principle
7MH-C
8MH-C2
Mechanical version
22014R IR L T FEM10x0,75 ; 6 mm % D-shape ; IP54
2202bF B R H M10x0,75; 3,175 mm il 5 ; IP54
2211¥5 H Rl fR R ¥Esize 9 ; 6 mm #i D-shape ; IP54
221287 IR R ¥size 9 ; 3,175 mm Tl H; IP54
2231FR IR R % M10x0,75 ; 6 mm #li D-shape ; IP67
2232FF B R HE M10x0,75; 3,175 mm il 5 ; IP67
224145 A R PR R %% size 9; 6 mm $4 D-shape ; IP67
224207 AR R % size 9; 3,175 mm i H; IP67
2299 R BRI K F Bk
MH-C MH-C2
1T iR it X X
T #l o= X X
1T 5 88 X X
#£0 x% ... y% Ub (within 5% ... 95% Ub) X X
PRIEE R R X X
FFRIDBETTL (max. 2) X X
B - X
IR SH A SBE30° to 360° (BWI) X X
B AT RE (R4 - X
BEKMAKJTIRE @FHNLH) = X
HEFE F EMCW/CCW FIRE / Al 4w (BN & 48 R 5k 4) - X
RE|RANRE/ ARE (ALK R HRAM) = X

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  48T.:173 1638 6953  Ryh:www.tifu-auto.com  H&:info@imcortech.cn



AW

RREEEAR (L) FRAF

Vert-X 2201 / Vert-X 2231

B2 #(incl.)
1x 8/ M10x0.75/ SW13
1Ix TR E
B (76 N
__1 _-_ - B -
[ - = R I
.. e LA
0
K cE O o
c._* _..[".I = e o __Bb ] fa=
= =l
| 1 !
¥
J
i [}
1 %°,5: -
= . Py L

Vert-X 2202 / Vert-X 2232

Ei - (incl.)
1x82BM10x0.75/ SW13
I ERE

1 ]

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com  H4:info@imcortech.cn



RRBEESAR (L8) ARA

l

|:—::-n:\

__r' 7 F.: |ﬁ| =

-
o

]

|

H35:021-5419 1392 4fT1:173 1638 6953

Vert-X 2211 / Vert-X 2241

B (incl.)
IxBEERF
2x WAL
1242 M3x8

Vert-X 2212 / Vert-X 2242
E2 4 (incl.)

1xE EXRF
xR R L=

1242 M3x8

CONIELEC

A company of the Siedle-Group

W%k - www. tifu-auto.com  Hi§F§:info@imcortech.cn



RRELHEAR (L FRAH

Vert-X 2211 / Vert-X 2212
Vert-X 2241 / Vert-X 2242
B

EEXF

20
]

CONIELEC

A company of the Siedle-Group

H35:021-5419 1392  4pT.:173 1638 6953  Muk:www.tifu-auto.com H4:info@imcortech.cn



	页 1
	页 2
	页 3
	页 4
	页 5



